Sl. No.101
QBID:12201001

The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20 %
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9 % 10 %
F 18 % 22 %

frafafas aifeer § ©: fafis 3 A-F & ol i & w4 o are fEarfedr 91 9@ o
Tou fEwfsal $t Ten &1 ufawa faaver gxifar mr 81 39 & v o7 are faefear ot oo
@A 1100 & 3T I8 TFU 3R Al &7 3Ud 15:7 €1 9 drfereT & 3T T fiPps! & SMUR
TR UY &1 I Sife:

Raefsal &1 G3ER g

- faaRm (%)

A 21% 20 %
B 25 % 22 %
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %




Number of female participants from Country D is
% of the number of male participants from
Country A.

1. 21
2,24
3.28
4. 31
(1)
(2)

(3)
(4)

A W N =

&= D T Higen ufauiiEr &1 Te &2 A T gey Ufauifigl &1 g=n &1 __ % gl

1. 21
2,24
3.28
4. 31
(1)
(2)

(3)
(4)

A W N =

1[Option ID=22901]
2[Option ID=22902]
3[Option ID=22903]
4[Option ID=22904]

Sl. No.102
QBID:12201002




The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20 %
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9 % 10 %
F 18 % 22 %

Prafifae aiftrer & ©: fAfis 330 A-F & oI T & 4r a9 are Rty & w@n ok
Tou fEefsal $t Ten &1 ufawa fGave gfar mr &1 g & v o7 are fGefeal 3t oo
@ 1100 & 3T ITH [T 31T AT BT U 15:7 &1 9 AT § {OW Y st F MUK
TR UY PT I ST

Raefedl &1 ¢eER fdm

- faaRT (%)

A 21% 20 %
B 25 % 22 %
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %




Total number of male participants from Country B
and F together is % of the number of
participants in the games.

1. 25
2.30
3. 40
4. 45

(1)
(2)
(3)
(4)

A W N =

B 3R F SHI T U QoY UAHIFrE! ©1 $ol SRl 19 J Uil & S= &l % g

1. 25
2. 30
3.40
4.45

(1)
(2)
(3)
(4)

A W N &

1[Option ID=22905]
2[Option ID=22906]
3[Option ID=22907]
4[Option ID=22908]

Sl. No.103
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The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20 %
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9 % 10 %
F 18 % 22 %

Prafifae aiftrer & ©: fAfis 330 A-F & oI T & 4r a9 are Rty & w@n ok
Tou fEefsal $t Ten &1 ufawa fGave gfar mr &1 g & v o7 are fGefeal 3t oo
@ 1100 & 3T ITH [T 31T AT BT U 15:7 &1 9 AT § {OW Y st F MUK
TR UY PT I ST

Raefedl &1 ¢eER fdm

- faaRT (%)

A 21% 20 %
B 25 % 22 %
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %




Number of male participants from Country E is
% more than the number of female
participants from Country C.

1.18
2. 21
3. 24
4. 25

(1)
(2)
(3)
(4)

G £ 9 T3Y Uil &1 91 G ¢ ¥ Afgal WiaHIil &1 Sem 3 __ % 31fdd g

1.18
2. 21
3. 24
4. 25

A W N =

(1)
(2)
(3)
(4)

A W N =

1[Option ID=22909]
2[Option ID=22910]
3[Option ID=22911]
4[Option ID=22912]

Sl. No.104
QBID:12201004




The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20 %
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9 % 10 %
F 18 % 22 %

Prafifae aiftrer & ©: fAfis 330 A-F & oI T & 4r a9 are Rty & w@n ok
Tou fEefsal $t Ten &1 ufawa fGave gfar mr &1 g & v o7 are fGefeal 3t oo
@ 1100 & 3T ITH [T 31T AT BT U 15:7 &1 9 AT § {OW Y st F MUK
TR UY PT I ST

Raefedl &1 ¢eER fdm

- faaRT (%)

A 21% 20 %
B 25 % 22 %
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %




What is the ratio of the number of participants
from Country D to the number of female
participants from Country E?

1.11:2
2.11:5
3.13:4
4.7:3

(1)
(2)
(3)
(4)

A W N =

&R D & WU @ 9% SR <X £ T Afgan ufayifig! &1 T &1 3 ud 87

1.11:2
2.11:5
3.13:4
4.7:3

(1)
(2)
(3)
(4)

A W N =

1[Option ID=22913]
2[Option ID=22914]
3[Option ID=22915]
4[Option ID=22916]

Sl. No.105
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The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20 %
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9 % 10 %
F 18 % 22 %

Prafifae aiftrer & ©: fAfis 330 A-F & oI T & 4r a9 are Rty & w@n ok
Tou fEefsal $t Ten &1 ufawa fGave gfar mr &1 g & v o7 are fGefeal 3t oo
@ 1100 & 3T ITH [T 31T AT BT U 15:7 &1 9 AT § {OW Y st F MUK
TR UY PT I ST

Raefedl &1 ¢eER fdm

- faaRT (%)

A 21% 20 %
B 25 % 22 %
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %




If 10 additional female participants from Country C
joined the games, then the total number of female
participants from Country Cis ____ % of the total
number of participants from Country C.

1.30
2.40
3. 50
4.60

(1)
(2)
(3)
(4)

A W N =

afe &= ¢ § 10 Hfafaa afear ufquifar 3 g & yr femn, 6 <2 ¢ § afgar ufawfgt &t oa
&1 <21 ¢ & UfUIRl &1 $a d@n &1 __ % &l

1.30
2.40
3. 50
4.60

(1)
(2)
(3)
(4)

A W N =

1[Option ID=22917]
2[Option ID=22918]
3[Option ID=22919]
4[Option ID=22920]

Sl. No.106
QBID:12201006

After twenty five years of graduation, from a large
group of strangers, a student is able to correctly
identify photographs of students with whom she
attended and completed her high school. This type
of learning belongs to the category of

1. Recall

2. Recognition

3. Common Sense
4. Eidetic imagery

(1) 1




(2) 2
3) 3
(4) 4

SRl & U@ 9 YHE & aid WIaP 11801 U B & 25 Ju1 916, T faandf, el ag &
BICHUIh! § 30 B ¥pd § 914 H Yg- R &1 1 =4 ard faenfdal &1 did UdR I UgdH o
o9& &1 R &1 98 UPR iy aif | Yaftd g7

1. [F: ¥R
2. U=
3. G Hdgd

4. T R

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22921]
2[Option ID=22922]

3[Option ID=22923]
4[Option ID=22924]

Sl. No.107
QBID:12201007

Which of the following instructional effect does not
come under Role-Playing Model?

1. Strategies of solving interpersonal problems.
2. Comfort in expressing opinions.

3. Facts about social problems and values.

4. Competence in social dialogue.

(1) 1
(2) 2
(3) 3
4) 4

Frafeiad eand® UHEl § 9 ©H YHd! Fded Alsd & Siavid gl 3l 87
1. iddaigad THX GHIYH S 0T
2. TaaRi @1 sifiyeafaa o geoan

3. AT THwE! SR godl & aR § 9
4. qHEIfS® darg H gafdl

(1)1
(2) 2




3) 3
(4) 4

1[Option ID=22925]
2[Option ID=22926]
3[Option ID=22927]
4[Option ID=22928]

Sl. No.108
QBID:12201008

Out of the following, which technology integrated

model is more useful for researchers to use:

1. TPACK
2. SAMR
3. RAT

4. PICEAT

(1)
(2)
(3)
(4)

A W N =

ot Ueiiie! Teied Alsdl § BF Wyddis & Uar & g sifye Suan g2

1. AT H & (TPACK)

2. T U TH 3R (SAMR)

3. 3R U T (RAT)

4. 11 315 T AR T (PICRAT)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=22929]
2[Option ID=22930]
3[Option ID=22931]
4[Option ID=22932]

Sl. No.109
QBID:12201009




Match List | with List I

List | List 11
(Classroom
Management) (Meaning)

A. Authoritative
Classroom
Management

I. A Management style that
allows students considerable
autonomy but provides them
with little support for
developing learning skills.

B. Authoritarian
Classroom
Management

Il. A Management style that
encourages students to be
independent thinkers but still
provides effective monitoring.

C. Permissive

lll. A Management style in
which teachers show students

Classroom ,
that they are aware of what is
Management ;
happening.
IV. A Management style that
is restrictive and punitive, with
D. Withitness the focus mainly on keeping

order in the classroom rather

than learning.

Choose the <orrect answer from the options given

below:

TA-IWE-ILC-,D-1
ZA-NLEBE-ILC-IV,D-|
JA-ILE-IV,C-1,D-1I
4 A-1ILE-IV,C-1,D-1I

(1) 1
(2) 2
(3) 3
(4) 4




gt -1 &1 Gl -1l T gafrd Sifa
Tl -1 (DT
Rl gl -11 (3= 3H)
|. YsieH @1 dg el ol [dential & st @R ueH
%”m' TP D |t & i T e > T B R o
gl Bl B
. — II. HEeH®! g8 2l ol [qential & wdd Rids g4 &
e foTe Uieied ®edl & Uig ofd ff UHEadRT FrREAT avdt
|
C. 3 9IEI® |11 Ud @ dg Xal forad e faenfial &f a8
DETUGYS  [UafRid Hd & fb d Gt 51 T8l geri & R 9Fd 8|
. Iv. Yae @I g8 2 o ufdad ¢ik S31d® § SR
- Hed HTRTH BT UTE H&T T T §91¢ TGdT 8
2 feu e faeedt § Y weI SR IR
1T.A-IV,B-1l,C-1ll, D-|
ZA-ILB-IL,C-1IV, D-1
A-ILBE-IV,C-1, D-1
4 A-1ILBE-IV,C-1, D-1
(1) 1
2) 2
(3) 3
(4) 4

1[Option ID=22933]
2[Option ID=22934]
3[Option ID=22935]
4[Option ID=22936]

Sl. No.110
QBID:12201010




SWAYAM is a program initiated by Govt. of India
and designed to achieve the three

cardinal principles of education:
A. Access

B. Equality

C. Equity

D. Quantity

E. Quality

Choose the correct answer from the options given
below:

1.B, D and E only
2. A CandE only
3.B, Cand E only
4. A, B and D only

(1)
(2)
(3)
(4)

A W N =

A (SWAYAM) HRd TSR GR1 Y g1 71 S1desd & s stftyarea-T fRian & JF geyd
BRI AR IS E I E b ARG ARIEEE

A, S

3. FHE

C. Tl

D. AT

E. ol

14 f&u ¢ faedl & 9 el g 9 -
1.®ac B, D 3R E
2.Bau A, C3RE

3. %ad B, CARE
4, HAA A, B 3R D

1)1




(2) 2
3) 3
(4) 4
1[Option ID=22937]
2[Option ID=22938]

3[Option ID=22939]
4[Option ID=22940]

Sl. No.111
QBID:12201011

While writing reports/manuscripts, researchers
sometime use the abbreviation 'fn" which implies:

1. figure number

2. following number(s)
3. final note

4. footnote

(1) 1
(2) 2
3) 3
(4) 4

oig Bl Feddl Hidda-, Tigfafl forad Trg YadmeR ' (% TF) &1 WART &dl & df S9d@]
Biﬁ-I'FITq%

1. §EHT-H®
2. ¥adl 9=
3. ifqy fewufy
4. 1g fewof

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22941]
2[Option ID=22942]

3[Option ID=22943]
4[Option ID=22944]

Sl. No.112
QBID:12201012




Given below are two statements:

Statement |: Parametric tests cannot be applied to
ordinal or nominal scale data.

Statement II: Parametric tests do not suppose any
particular distribution and the consequential
assumptions.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement |l is false.
4. Statement | is false but Statement Il is true.

(1)
(2)
(3)
(4)

A W N =

EIEEAEAIE A IS
DY - | : Wi G&0 ssHgAD 1 AES 98 & Hidhsl H SHUgad ol fbd & Tbd g |
@Y - 1| : Yrateich G1amn Tl fafiy faarur SiR radl Yai-HH &1 SUal gl &id g
SUgad DYl & Hiclld H FEfdRad fadbedl 5 9 Wel Stk 4 -

1. ®Y 1 3R 11 GHI T E

2. @Y | AR 1| GF1 TTad g

3. %Y1 Tl &, foheg &Y 11 7T B

4. DY TAd &, fbg dY 1 T.T &1

(1)
(2)
(3)
(4)

A W N =

1[Option ID=22945]
2[Option ID=22946]
3[Option ID=22947]
4[Option ID=22948]

Sl. No.113
QBID:12201013




One of the main advantages of online survey based
research is

1. lessened ethical requirements.

2. a reduced need to provide debriefing and
clarification to participants after completion
of survey.

3. participants can discontinue if they feel
uncomfortable at any stage of survey.

4. a better understanding by participants of
informed-consent issues.

(1)
(2)
(3)
(4)

HITIZH A& S1TRd Y & U e § 4 U &:

H W N =

1. BH Al HUETT

2. GA&U B W 5 & a16 WaHTRE! &I Ga-1 3R TPIa0 UaH - B Haadd H Bl
3. HIR Y& & farddl 901 IR UfAHFT SUes 3y &d © di d Ya&ul 4 fddd 8l Ydbd |
4. RSPt F HE @) SR gRT Yo TS

(1)
(2)
(3)
(4)

A W N =

1[Option ID=22949]
2[Option ID=22950]
3[Option ID=22951]
4[Option ID=22952]

Sl. No.114
QBID:12201014

The requirement in research that specifies that
researchers must notify participants about the
nature of participation research and any risks
involved, is known as

1. Anonymity

2. Confidentiality

3. Informed Consent
4. Coercion

(1) 1
(2) 2




3) 3
(4) 4

iy o H 2y Gaftd gfauiiar of afauifiidr & @y Udid, WY 9yl S9& Sied 9§ 3favd
B DI SHUET BT ¢ ol BT A1l &:

1. A
2. To-ar

3. AYfad EPhd
4. 9 WG

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22953]
2[Option ID=22954]

3[Option ID=22955]
4[Option ID=22956]

Sl. No.115
QBID:12201015

Given below are two statements:

Statement I: In web based survey research, it is an
advantage that the investigator does not have to
be present when a participant is interested in
engaging in the task.

Statement II: In web based survey research, it is

a disadvantage that the investigator is not present
to provide clarify/remove doubts when

the participant is interested in engaging in the task.

In light of the above statements, choose the most
appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are
incorrect.

3. Statement | is correct but Statement Il is
incorrect.

4. Statement | is incorrect but Statement 1l is
correct.

(1) 1
(2) 2




3) 3
(4) 4

BY - | : 99 AT HA&U WY H 0D B U o1 I8 ¢ 5d dlg WaHF 39 B H Fiefed
EId1 & @ 300G @I 39 YA SURYT T8l &1 USdl &

@Y - |1 : dd AR Y& Y T H<YD DI T8 HATH & @I Yaaul dId o FHferd eH & T3P
iRl & WEd)y IS 991U & [0 3<u® J9Ud 96l aidl 6|

IUdd HYH B Heild H Feitied el § 9981 3w 94 -
1. BUF 1 3R 11 T T Bl
2. FYA 1 AR NG Tad g |

3. ®Y | G2l g, faoegd YA 11 7Tad B
4. DY Tad &, fog DY 11 TET B

(1)
(2)
(3)
(4)

A W N =

1[Option ID=22957]
2[Option ID=22958]
3[Option ID=22959]
4[Option ID=22960]

Sl. No.116
QBID:12201016

Communication is a dynamic process across

1. The meta universe

2. Inanimate phenomena

3. Varied situations

4. Specific populations only

(1)
(2)
(3)
(4)

Tumy Fgfeied & 9 feod ue niaeia ufean g -
1. HiUSEEIUS (Wel gHad) |
2. TR-Sad ugesdl GHAHe BaEn |
3. fafgy ofvfRufaai |
4, ©aq ARy SaEmat |

H W N =




1)1
(2) 2
3) 3
(4) 4
1[Option ID=22961]
2[Option ID=22962]

3[Option ID=22963]
4[Option ID=22964]

Sl. No.117
QBID:12201017

The first World War was a stimulant for the
development of

1. Radio

2. Films

3. The Press

4. The Internet

(1) 1
(2) 2
(3) 3
(4) 4

uyH faygs Fofafad o 4 fegd [Aey o U 38U U

1)1
(2) 2
3) 3
(4) 4
1[Option ID=22965]
2[Option ID=22966]

3[Option ID=22967]
4[Option ID=22968]

Sl. No.118
QBID:12201018




In communication, the three major areas of analysis
are:

A. particularism
B. semiotics
C. syntactics
D. programatics
E. virtual reality

Choose the correct answer from the options given
below:

1. A B and C only
2.B,Cand D only
3.C, DandE only
4. A DandE only

(1)
(2)
(3)
(4)

A W N =

U] H fa=er & ofiF W & 1 67

A. fafavdmEe

8. Yahatag=

C. 91ay fa-arg fag

D. BRIHHATG

£, STHIET guTY

T4 f&u 7Y aedl & 9 W8l I 9 -
1.®ad A, B3R C
2.%qquB,CIR D

3. AT C, D AR E
4. BT A, D3R E

(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=22969]
2[Option ID=22970]
3[Option ID=22971]
4[Option ID=22972]

Sl. No.119
QBID:12201019

To be effective, classroom communication must be
A. Top down

B. Analytical

C. Unresponsive

D. Adjustable

E. Progressive

Choose the correct answer from the options given
below:

1. A B and C only
2.B,Cand D only
3.C, DandE only
4.B, D and E only

(1)
(2)
(3)
(4)

A W N =




Ul B & [y Hail-HaR 9 # 9 g1 91igy
A, ST

5. azauTE®

C. Siyfafsharaiia

D. YHMEY

E. Wrfasita

T4 U U aedl & 9 W8l I 94 -

1. AT A, B 3R C
2. ®ad B, C 3R D
3. AT C, D AR E
4. $aAB, D 3R E

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=22973]
2[Option ID=22974]
3[Option ID=22975]
4[Option ID=22976]

Sl. No.120
QBID:12201020

Given below are two statements:

Statement I: The Internet has provided new
communication channels to youngsters in societies
that are socially conditioned.

Statement |l: The new media can be used for
harmless fun and entertainment, but otherwise
also.

In light of the above statements, choose the

correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement |l is false.
4. Statement | is false but Statement Il is true.

(1) 1
(2) 2




(3) 3
(4) 4

SICRAR e T S
S - | : IS U Y SFSad Garel § 32 - gar 1l & U TR anf fRu §

HU - || : 7U A1 HT JUAN Bli-Ried HHE-UHG AR FARe & 07U [6ar o 9@l 8 | i 98
Y1 it 51 gl o

SUdE DYl & HIclD H HHldRad f[adedl § 4 el 3t 1 -

1. ®Y | R 11 THT T B
2. @Y | AR 1 GHI TTad g
3. ®Y 1 Tl &, fobeg &% 11 7Tad B
4. DY TAd &, g &Y 1 TS B

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22977]
2[Option ID=22978]

3[Option ID=22979]
4[Option ID=22980]

Sl. No.121
QBID:12201021

In a bookshop, 40% of the books are in English.
Out of the remaining books 60% are in Hindi. The
remaining 3600 books are in other regional
languages. Find the total number of books in the
bookshop.

1. 15,000
2. 16,000
3. 18,000
4. 20,000

(1) 1
(2) 2
3) 3
(4) 4




QKD | &I U g H 40 % Tedds AU H g1 ol g3 G&ddl di 60 % [l H £ 1 29 &1 3,600 T
3 &g HTHTst H | Tiad! @1 gdbH H $d Tk (dbaHl o7

1. 15,000
2. 16,000
3. 18,000
4. 20,000

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22981]
2[Option ID=22982]

3[Option ID=22983]
4[Option ID=22984]

Sl. No.122
QBID:12201022

Find the value of the following expression:

52x52—-25 x25
7.7 % 2.7

20.79

20.25
20.75

20.50
3.2

4.1

1.

2.

(1) 1
(2) 2
(3) 3
(4) 4

Fafaiad sdoi® & 9 &1 dl e

5.2 %x52—-25 x25
7.7 x 27

20.79

20.25
20.75

20.50
3.2
4.1

2.




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22985]
2[Option ID=22986]

3[Option ID=22987]
4[Option ID=22988]

Sl. No.123
QBID:12201023

If A is an integer, then which of the following
statement(s) is/are true?

A, A+1 will be odd
B. AZ+2 will be odd
C. A+2 will be odd
D. 2A-1 will be odd
E. AZ+1 will be odd

Choose the correct answer from the options given
below:

1. A and B only
2. A BandConly
3.D and E only

4. D only

(1)
(2)
(3)
(4)

A W N =




i A Us Uil &, of Fofafad T ¥ & 9/d $y1 9 8/e?
A A+1 U fqud g1 gl

B. AZ+2 Udh TqwH =1 gt

C. A+2 T fawe T gt

D. 2A-1 U fauH F=a1 5111

E. AZ+1 U Tqug T gRil

T4 U 7Y fadedl & 9 W8l I 9 -

1. ®Had A 3R B
2.BadA, B IAHR C
3. ®Haa D AR E
4. &g D

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22989]
2[Option ID=22990]

3[Option ID=22991]
4[Option ID=22992]

Sl. No.124
QBID:12201024

If the fractions 2/5, 3/8, 4/9, 5/13 and 6/11 are
arranged in ascending order of their values, then
which of the fractions will be the third in the
ordered sequence?

1.2/5
2.4/9
3.5/13
4.3/8

(1) 1
(2) 2
3) 3
(4) 4




afe il 2/5, 3/8, 4/9, 5/13 3R 6/11 B 39 TH & ARigl HH H T 10 df 39 9 5 o
WM R S 91 i grm?

1. 2/5
2.4/9
3.5/13
4.3/8

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22993]
2[Option ID=22994]

3[Option ID=22995]
4[Option ID=22996]

Sl. No.125
QBID:12201025

If in a coded language, '154' means 'Good

and Tasty"; '4 6 8' means 'See Good Pictures’; and "6
2 9" means 'Pictures are Faint'". then which of the
following digit stands for 'See'?

1.9
2.8
3.4
4.6

(1) 1
(2) 2
(3) 3
(4) 4

afE i Te U & 154 @1 3 § o 3R WIey, 468 @ o § T@l 3fss [, 3R '629° &I
3 g foa § gy, df Fefafad 8 ¥ oF oia <@ @ ey oear a2

1.9
2.8
3.4
4.6

(1) 1
(2) 2
3) 3




(4) 4

1[Option ID=22997]
2[Option ID=22998]
3[Option ID=22999]
4[Option ID=23000]

Sl. No.126
QBID:12201026

"Does the distinguished Member of the Parliament
really believe that the Indian public is so naive that
they will endorse just any stopgap measure”?
Which fallacy is committed in the above

arugument?

1. Begging the question
2. Red Herring

3. Appeal to Ignorance
4. Complex Question

(1) 1
(2) 2
(3) 3
(4) 4

"1 A1 SUG 96 d1%ad | (919 ®d & [ HRd & Al 3+ Hid-Hial & o d faodt
BHIANS, JUM B YT B2 IWIad HYF H v g TSR &1 ddhal 57

1. AT T

2. ¥s g

3. I BT TG
4. AU

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23001]
2[Option ID=23002]

3[Option ID=23003]
4[Option ID=23004]

Sl. No.127
QBID:12201027




If the statement - "Some pandas are herbivorous
animals”, is given as true, then which of the
following statements can be immediately inferred
to be false?

1. No pandas are herbivorous animals.
2. All pandas are herbivorous animals.
3. Some pandas are not herbivorous animals.
4. All herbivorous animals are pandas.

(1) 1
(2) 2
3) 3
(4) 4

gfe S "$S UlS] AMBERI vHR & Bl ¥ & w4 H &g 11 3, 7d Fofafea d g s
®HYF AR ST Y 30 g4 & TY H H1d fovdn o adhar ez

1. @13 i UFST AMBHRRI THR 2 8
2. i uisT e RR HaER B

3. $9 UTST AMSERI SHaR el |
4. J¥t AMHERI I Ui 5

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23005]
2[Option ID=23006]

3[Option ID=23007]
4[Option ID=23008]

Sl. No.128
QBID:12201028




Which of the following statements are so related
that they cannot both be false, although they may
both be true?

A. All mushrooms are fungi.

B. No mushrooms are fungi.

C. Some mushrooms are fungi.

D. Some mushrooms are not fungi.

Choose the correct answer from the options given
below:

1.C and D only
2. A and B only
3. A and C only
4.B and D only

(1)
(2)
(3)
(4)

A W N =

FafaRad § 9 ©H-0 Sy 38 ISR U 4afid ¢ & d GH U 1Y 30d ol ol 9@ Tgfd d gHl
I 8l Tad &7

A 9t 7IEH ®a® g

B. @5 Hl 93T &ad "ol 6|

C. % HIEH Hdd g

D. S TR &d® ol ¢

=i feu 7Y fadedl & 9 9El SR oH -
1.®dd C 3R D
2. had A 3R B

3. HAA A AR C
4. ®aA B 3R D

(1)
(2)
(3)
(4)

A W N =




1[Option ID=23009]
2[Option ID=23010]
3[Option ID=23011]
4[Option ID=23012]

Sl. No.129
QBID:12201029

Which of the following statements are logically
equivalent?

A. Some plants are non-fungi.

B. Some plants are not fungi.

C. Some fungi are plants.

D. Some non-fungi are not non-plants.

Choose the correct answer from the options given
below:

1.B, C and D only
2. B and C only

3.A Cand D only
4. A BandD only

(1)
(2)
3)
(4)

Fafaiad ®H-9 oy difd® 9 4 99 o7
A. DS 1Y TR-Had gl

H W N =

B. $% UlY Had el o

C. P& ddd UId §|

D. TS IR-Ha®, IR-T1E Tl B

e féu ¢ fowed & 9 Wel S A -
1.®dd B, C 3R D
2. HauB 3R C

3. PaAA, C3HRD
4. BT A, B 3R D

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=23013]
2[Option ID=23014]
3[Option ID=23015]
4[Option ID=23016]

Sl. No.130
QBID:12201030

According to classical Indian School of logic
(Nyaya) which of the following steps of inference
(anuméana) corresponds to application (upnaya)?

A. That mountain has fire.
B. Whatever has smoke has fire, e.g. an oven.

C. That mountain has smoke such as is invariably
accompanied by fire.

D. Because it has smoke.
E. Therefore that mountain has fire.

Choose the correct answer from the options given
below:

1. C only
2. Aonly
3.Cand E only
4. D only

(1) 1
(2) 2
3) 3
4) 4




YR YR =710 0d & H9R Fufafad $1H 91/4 R0 3930 & 99Ed /8 7
A JHUAd W AFTE |
B. STgl-oTel Y3i1 &, d8l del 3171 &, Wid JeeT|
C. 39 Udd W 341 § o1 fob 31T YU & Ty FRude-3u ¥ f[aeEH (oy) Il 8
D. Hifds 3 W g3 g
E. 3T 39 Udd WX AT & |
T4 U 7Y fadedl & 9 W8l I 9 -
1.®dd C
2. hde A

3. Had C 3R E
4, HaA D

(1)
(2)
(3)
(4)

A W N =

1[Option ID=23017]
2[Option ID=23018]
3[Option ID=23019]
4[Option ID=23020]

Sl. No.131
QBID:12201031

Tina has bought a 4 gigabyte MP3 player. If each
song lasts 3 minutes and is recorded at 128 kilo
bits per second, then how many songs can be
stored on Tina's MP3 player?

1.1156
2.1256
3. 1356
4. 1456

(1)
(2)
(3)
(4)

A W N =




11 U 4 TTEEE &1 MP3 TR Eial | af U 1iid 3 fiFe 9@ audl & 3R 128 fHaifae ufa-
YpUE Bl X W N@TS 601 I1d1 &: 76 1 & MP3 W & fova+ 7iial &f Tufed fear o1 9@ & 2

1. 1156
2. 1256
3. 1356
4. 1456

(1)
(2)
(3)
(4)

A W N =

1[Option ID=23021]
2[Option ID=23022]
3[Option ID=23023]
4[Option ID=23024]

Sl. No.132
QBID:12201032

Which of the following statements about email are
TRUE?

A. You can create folders to store and organise your
emails.

B. Using the Cc feature will hide all other recipients
from each other.

C. You can add attachments of any file size to an
email.

D. You can add signatures to your emails to give
personal contact details.

E. You can only send emails from a laptop
computer.

Choose the correct answer from the options given
below:

1. A and B only
2. A and Conly
3. A and D only
4.B, Cand E only

(1) 1
(2) 2




(3) 3
(4) 4

3-H0 & §R | FfaiEd $19-4 HyH 90 87
A. 30 30 3 -1 ST G408 HI Ud YHayd @3- o biee & 9@d o
8. T Tt (Co) faRIaT (®1=R) &1 uan 94t 3Fg Uradmaist ®f Th-gas § i ¢l
C. 319 Tt 3-Ad | ot i PR gl BIsd & sicgHe (Taud)) & Hag o (918) 96d &l
D. 31U ol YU [qaRv UeH gq U 3-Hd H gx1&R Bl ad (A1s) PR §dhd gl
£, U ad TUcid U 8l 3-Ha Ui B2 Fdd ¢ |
=i feu 7Y fadeul 7 9 WEl IR 9 -
1.9 A IR B
2. had A R C

3. HAdA AR D
4, HAAB, C AR E

(1)
(2)
(3)
(4)

A W N =

1[Option ID=23025]
2[Option ID=23026]
3[Option ID=23027]
4[Option ID=23028]

Sl. No.133
QBID:12201033

Given below are two statements:

Statement |: .txt, .rif and .csv are three file

extensions used for generic text files.

Statement II: .rar file extension is an acronym for
Roshal ARchive; deveoped by Russian software
engineer Eugene Roshal.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement |l are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement |l is false.
4. Statement | is false but Statement Il is true.




(1) 1
() 2
(3) 3
4) 4

A AICR A RIS

@Y - |1 i, rif R csv YR OIS (Cae) WIS dl od Wgad aiH dId diF higd UaIesH ([TWR) B

BYF - |1 : rar BIT UGS AR HTH13d BT URGUT Meg & ford T4l edaR Sl —aR ol
e H faefid favan o

Iuded Byl & e H Fafiiad faeedl § 9 el S 4 -
1. YT 1 3R 11 THf TBl gl
2. FYA 1 AR NG Tad g |

3. ®Y | eI g, fobwg &Y 11 7Tad B
4. Y| TTad &, [ dYH 11 981 &1

(1)
(2)
(3)
(4)

A W N =

1[Option ID=23029]
2[Option ID=23030]
3[Option ID=23031]
4[Option ID=23032]

Sl. No.134
QBID:12201034

Which one of the follwing acronyms matches
incorrectly with their full form?

1. VoIP - Voice Over Internet Protocol

2. WLAN - Wired Local Area Network

3. HTML - Hyper Text Markup Language

4. CMOS - Complementary Metal Oxide
Semiconductor

(1)
(2)
(3)
(4)

H W N =




frafeiad # 9 &1-91 ve uRauil Weg 310 ol 9 TToid T E gAfd 87

1. VoIP = @159 3HIaX 3UeL-¢ Ueidid

2. WLAN = @/gs didd URAT "cad

3. HTML = BI0R 3R B30 dido

4. CMOS = BiTH] Hed sfiaags dHidsaet

(1)
(2)
(3)
(4)

A W N &

1[Option ID=23033]
2[Option ID=23034]
3[Option ID=23035]
4[Option ID=23036]

Sl. No.135
QBID:12201035

Identify the correct order of the following memory
types in decreasing order of access time.

A RAM
B. 55D

C. CPU Cache

Choose the correct answer from the options given
below:

1.ACE
2.CAB
3.BCA
4.B A C

(1)
(2)
(3)
(4)

A W N =




ST 3@y & 3fd@is! ®H H HYfRad 79X UeRl & Yel-0d & fafed Sife:
A. RAM (3R TTH)

B. SSD (T TH SI)

C. CPU Cache (&t 0t g &)
I féu T fgwedl O 4 98l 3R g -

1.A CE
2.C A B
3.B,C A
4. B A C

(1)
(2)
(3)
(4)

A W N =

1[Option ID=23037]
2[Option ID=23038]
3[Option ID=23039]
4[Option ID=23040]

Sl. No.136
QBID:12201036

Which of the following Millenium Deveopment
Goals (MDGs) had the highest number of targets?

1. Goal 5 : Improve Maternal Health

2. Goal 6 : Combat HIV / AIDS

3. Goal 7 : Ensure Environmental Sustainability

4. Goal 8 : Develop a Global Partnership for
Development

(1)
(2)
(3)
(4)

A W N =

fofafad gearsd! fae™ J52af (ud S1 o) © d foue Sifiead asg o2

1. 9880 5 : AJ® WA H JUR

2. 359 6 : TgaMgdl / UgH U qdlad]

3. 9570 7 : UMy Yaddl HfEd &30

4. 3890 8 : o™ & o 3f¥e urfier fa®iad @




1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23041]
2[Option ID=23042]

3[Option ID=23043]
4[Option ID=23044]

Sl. No.137
QBID:12201037

Which of the following diseases are caused by
atmospheric particulate matters?

A Asthama

B. Melanoma

C. Dry Eye Syndrome

D. Bronchitis

E. Chronic Obstructive Pulmonary Diseases (COPD)

Choose the correct answer from the options given
below:

1. A, B, Cand D only
2.B,C D andEonly
3.A,C DandEonly
4. A B, DandEonly

(1) 1
(2) 2
(3) 3
(4) 4




FefeRad § 9 ®F U I IgHSHg SIUHd Uerdl & SRU Bl o7
ALGHI

3. HefHH

C. @i 31 Hasaf

D. 481 Y

£, FeR® oS a4 HUpa A9 (& off di )

T feu e fgsedl 7 9 981 3Tk 9 -

1.®adA, B, C3IR D
2.%ddB, C, D 3RE
3.%Badd A, C, D ARE
4. A A, B, D ARE

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23045]
2[Option ID=23046]

3[Option ID=23047]
4[Option ID=23048]

Sl. No.138
QBID:12201038

Given below are two statements:

Statement I: Amount of oxygen dissolved in water
is a good indicator of water quality and of the kinds
of life it will suppport.

Statement II: Chemical Oxygen Demand (COD) is a
measure of dissolved oxygen consumed by aquatic
microorganisms.

In light of the above statements, choose the

correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement |l is false.
4. Statement | is false but Statement Il is true.




(1) 1
() 2
(3) 3
4) 4

A AICR A RIS

HY - | - Tl H Gl TS B AT S B 0w 3R $8db gRI GHd Siia- & UdR| &l b
ITH Yhd® 5|

DU - 11 : JAFS A T (3 3 ol geaeifaal gR1 MR &1 715 gl g8 Ao
@1 AUS 3

SUde DYl & HIaID H HHidRad [ddedl # 4 el 3t 1 -
1. YT 1 3R 11 THf TBl gl
2. FYF | 3R 11 G Tad g

3. ®Y | eI g, fobwg &Y 11 7Tad B
4. DY | TAd &, g &Y 1 98 1

(1)
(2)
(3)
(4)

A W N =

1[Option ID=23049]
2[Option ID=23050]
3[Option ID=23051]
4[Option ID=23052]

Sl. No.139
QBID:12201039

Given below are two statements:

Statement I: Reactor is the heart of any nuclear
power plant.

Statement II: In case of nuclear power plants,
except the reactor, the technology is exactly similar
to any other fossil fueled power plant.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement |l is false.
4. Statement | is false but Statement Il is true.




(1) 1
() 2
(3) 3
4) 4

TR Py RumE:
®Y - | - Rugez fod ot ey Soff 993 &1 geg glar gl

FY - 1| ; TS Soll T & A #, Wugex & faam uenfet fedt ot e i Su= 9 90
aTd Sl 949 & A Bidl 6|

Iuded Byl & e H Fafiiad faeedl § 9 el S 4 -
1. YT 1 3R 11 THf TBl gl
2. FYA 1 AR NG Tad g |

3. ®Y | eI g, fobwg &Y 11 7Tad B
4. Y| TTad &, [ dYH 11 981 &1

(1)
(2)
(3)
(4)

A W N =

1[Option ID=23053]
2[Option ID=23054]
3[Option ID=23055]
4[Option ID=23056]

SI. No.140
QBID:12201040

Which one of the following pollutants is
responsible for acid rain formation?

1. CH4 (Methane)

2. CgHg (Benzene)

3. SO3 (Sulphur dioxide)
4. CO ( Carbon monoxide)

(1)
(2)
(3)
(4)

H W N =




Fafaiad o 9 &F 91 Ugud iy aui fas va-1 & o Iaad 82

1. CHy (F1dA)
2. CgHg (doflF)
3. 50, (GTPE 3 HEHE3)
4. CO (®TaH gHl HFEEI)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=23057]
2[Option ID=23058]
3[Option ID=23059]
4[Option ID=23060]

Sl. No.141
QBID:12201041

As per NEP-2020, for offering a 4-year integrated
teacher preparation programme, all the Teacher
Education Institutions (TEls) will be required to
convert to multidisciplinary institutions by:

1. 2030
2.2040
3. 2025
4. 2035

(1)
(2)
(3)
(4)

A W N =

T3 & fifd-2020 & AR, TP 4 JUg GHfdd Ra@ GOR SRS DI L23d B od 9HT
e fR&m =Ml (€1 3 o) @ 9g-0vge 9_F & wu § Fyifed g ad 9@ aRafdd @&
gI?

1. 2030
2. 2040
3. 2025
4. 2035

(1)
(2)
(3)
(4)

A W N =




1[Option ID=23061]
2[Option ID=23062]
3[Option ID=23063]
4[Option ID=23064]

Sl. No.142
QBID:12201042

Find out the names of ancient Indian universities
whose names are mentioned in NEP 20207

A. Malanda

B. Takshashila
C. Mithila

D. Valabhi

E. Vikramshila

Choose the correct answer from the options given
below:

1.C, D and E only
2. A B, CandE only
3. A, B, Dand E only
4. A B and D only

(1)
(2)
(3)
(4)

A W N =




T3 fRren g 2020 & Iafad w=H YR f3yfaemaat & 9t o 319 Sifeu|
A ATEaT

B. &I

c. fafdan

D. T+t

. faspafaren

T feu e fgsedl 7 9 981 3Tk 9 -

1.®adqC, D 3R E
2. BadA, B, C 3R E
3.Badd A, B, D AR E
4. BaA A, B AR D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23065]
2[Option ID=23066]

3[Option ID=23067]
4[Option ID=23068]

SI. No.143
QBID:12201043




Which of the following universities were
established under the provision of the Acts of
incorporation passed by the governor-general and
Viceroy Lord Canning, in January 1857.

A. Calcutta
B. Panjab

C. Madras
D. Bombay

Choose the correct answer from the options given
below:

1. A and D only
2.A BandConly
3.A Cand D only
4. A B, CandD

(1) 1
(2) 2
3) 3
(4) 4

TTq-R-S-Rdl U9 IR 18 i1 gR1 o-asl 1957 H UIid [T T4 GHGEH & AHTH & Juay
@ faiid Fefafad ®F-T fGyfaenaal &1 e &1 1 o7
A. BB

B. USlld

C. HalH

D. 9T

Il f&u 7T faoedl & 4 5l ST I -
1. ®BaAd A AR D
2. Bad A B3R C

3. BAA A, C AR D
4.A, B, C3RD

(1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=23069]
2[Option ID=23070]
3[Option ID=23071]
4[Option ID=23072]

Sl. No.144

QBID:12201044
How many regional centers of UGC are there in
India?

1. Four
2. Five
Six

. Eight

L

o

(1) 1
(2) 2
(3) 3
(4) 4

YRd ® g ot Ot & fova & &% &7

—a

L

Py

(1)
(2)
(3)
(4)

A W N =

1[Option ID=23073]
2[Option ID=23074]
3[Option ID=23075]
4[Option ID=23076]

Sl. No.145
QBID:12201045




National Programme on Technology Enhanced
Learning (NPTEL) is the largest online repository in
the world of courses in:

A. Yoga and Meditation

B. Engineering

C. Visual Arts

D. Basic Sciences

E. Selected Humanities and Management Subjects

Choose the correct answer from the options given
below:

1. A, Cand E only
2.B and C only

3.B, D and E only

4. A B, Cand D only

(1) 1
(2) 2
3) 3
(4) 4

Uit Hafdid S R g SrisH (T Ul <1 S Ua) [y | o6 ureusm i &1 9ad 931 Sarg
e &
A. TN 3R &
B. SAHTIEID!
C.ERU Hal
D. eryd fas
. gi-fal AHTa®T 3R yeeH faug
T4 f&u 7Y aedl & 9 W8l I 9 -
1. ®ad A, C 3R E
2. had B IR C

3. %9 B, D AR E
4. BAd A, B, C 3R D

(1) 1
) 2




(3) 3
(4) 4

1[Option ID=23077]
2[Option ID=23078]
3[Option ID=23079]
4[Option ID=23080]

Sl. No.146
QBID:12201046




Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant’s
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parent’s
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.




Frafafed T o wHryde ey Sk SwEiia ue usi & S S :

UF W & ©0 § g9 U4 W @ dade ffefdadl ok efiRa &y w8 g @t
YA Sawiei @ U@ 9iRay ua &1 o™ o3d &l By ¥ ¢ "ufife scufdefaa damas
SEItF B SFRHAT Bldl & off Se/0d @Al & ford U IR R uRgeH/ IRER & w9 o Yafifa
foan Sran €1 I & Yot Sfiad § 34 ¢l IgieHl ¥ Mftd $@ 3R 5idl o U Widd SoRu &
Ufd HHUY, T SR IUFH 3R TAER 7 HifaHE SoRuN &1 UReR MtHud: Ud 81 ol 399
U Bidl § & I8 Gad® IgiUd @ UPd & 3R TP ddud d [GedH Bd! 8, IUFH-INER
3frar quf ®H g Tde (i &l 31 98 99 9a9d @1 ax0®@dll & 3R 9-d sia- gdd
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The above passage has most likely been taken from
a text on

1. Human Biology

2. Parent Education

3. Emotional Development
4. Children Upbringing

(1) 1
(2) 2
(3) 3
(4) 4




Suddd T Yaiftd Haaa fey ure 9 femn T gr

1. 9114 Siid fagH

2. OId1-faan (3ffiyyadm) fuan
3. 9T g

4. g &1 Yra=-g1goy

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=23081]
2[Option ID=23082]

3[Option ID=23083]
4[Option ID=23084]
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Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant’s
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parent’s
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
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Given below are two statements, one is labelled as
Assertion (A) and the other is labelled as Reason
(R).

Assertion (A): An infant's avoidance of unpleasant
stimulations or situations is limited.

Reason (R): An infant is unable to decode the
emotions expressed from others’ faces.

In light of the above statements, choose the most
appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the
correct explanation of (A).

2. Both (A) and (R) are correct and (R) is the
correct explanation of (A).

3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

(1) 1
(2) 2
(3) 3
(4) 4

T el dYH RRU U T : Uah &l 3ifHEYA (A) 3R GIR &I BRU (R) Sl ™M 6|
HYDHYA (A) : Tah 1Y & AT uad Ieiu4 a1 FRyfagl &1 uiRer diftd 2

R) : U R g & ded &1 s Sifiafad &1 fdded &3 O sigud s e |
U Yl & eile | Fgifed fdecl # 9 981 ST I

1. (A) 3R (R) G T8I & 3R (R), (A) P! Gel AR &
2. (A) 3R (R) THT &1 & T (R), (A) T ol oA Tal &
3. (A) Uel § U] (R) Ul ol g
4. (A) FEI T8I 8 U] (R) Hel B
(1) 1
(2) 2
(3) 3
(4) 4

i1[Option ID=23085]
2[Option ID=23086]
3[Option ID=23087]
4[Option ID=23088]
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Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant’s
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parent’s
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
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The angry face of a parent will most likely generate
which among the following responses in a new
born child.

A. Crying

B. A smiling face to pacify the parent.
C. Sucking the edge of a blanket .

D. 'Pick-me-up' gesture.

Choose the correct answer from the options given
below:

1. A B and C only
2. A Cand D only
3.B,Cand D only
4. A, B and D only




(1) 1
(2) 2
(3) 3
4) 4

HIAI-OdT ST hIUHd - HHdd 9 U aud %] H dH-91 HfHd THIdd S Uhbe gril?
A. Faer

B. AT1-TUdT @1 d T od THeC W U6
C. Had @ fb=R Bl T8l
D. H2I Ml & IaTar &1 Ybd
=i Teu 7Y fadedl & 9 98l IR o -
1.®ad A, B 3R C
2.bad A, C 3R D

3.%dd B, C AR D
4, AT A, B 3R D

(1)
(2)
(3)
(4)

A W N B

1[Option ID=23089]
2[Option ID=23090]
3[Option ID=23091]
4[Option ID=23092]
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Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant’s
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parent’s
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
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Given below are two statements:

Statement I: 'Approach’ is an emotional arousal
response in an infant towards pleasant stimulation.

Statement II: An infant has little understanding of
the emotions conveyed through facial expressions
of others.

In light of the above statements, choose the most
appropriate answer from the options given below:

1. Both Statement | and Statement |l are correct.

2. Both Statement | and Statement Il are
incorrect.

3. Statement | is correct but Statement Il is
incorrect.

4. Statement | is incorrect but Statement Il is
correct.

(1) 1
(2) 2
(3) 3
(4) 4

Hd A B RUTUE:

DY - |- JUTH' U Y] H [ IR0 & Hid HaTetd Igied rfHar g
BUT - 1| : U A B ORI BT S HTHeafdant gR1 Suftd Yaai &1 §1y &4 gidT o
Sudad Byl & 3l H FEfcied el § 4 98l S g ;

1. @Y | 3R 11 GHI Tl g
2. YA AR I G Tad g
3. %Y1 Tl &, fobeg &Y 11 7T B
4. DY TAd &, fPd B 1 T-T &1

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=23093]
2[Option ID=23094]
3[Option ID=23095]
4[Option ID=23096]
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Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant’s
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parent’s
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
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Continued parental despondency could cause
which of the following changes in an infant?

A, Alteration in sleep pattern

B. Increasingly irritable behaviour
C. Reduction in anxiety levels

D. Increased anger

Choose the correct answer from the options given
below:

1. A B and C only
2. A Band D only
3.B, Cand D only
4. A B, CandD




(1) 1
(2) 2
(3) 3
4) 4

TGS (HIA1-TUdn) DT Tdd ISR & HRU Uh Y § HEftiiad § &F-9 URaq 8l Tdd & 2
A. T & foEy # gRkadq

. Fsfagu sragr # gf

C. TedmrETar &Rl | B4

D. 1Y H 3fg

-l feu 7Y fadedl & 9 Wel 3w g -

1. AT A, B 3R C
2. Bad A, B3R D
3.%dd B, C AR D

4.A, B, C3RD

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=23097]
2[Option ID=23098]

3[Option ID=23099]
4[Option ID=23100]




